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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nine and half (9
1

2
) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s ukS (9
1

2
) vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by Scientific method ? How 

scientific method is helpful in Educational Research ? 

oSKkfud fof/k ls vki D;k le>rs gSa \ ’kSf{kd ‘kks/k esa 

oSKkfud fof/k dSls lgk;d gksrh gS \ 

2. Discuss the current issues in educational research with 

reference to fundamental research. 

ewyHkwr ekSfyd vuqla/kku ds lanHkZ esa ‘kSf{kd ‘kks/k lEcU/kh 

izpfyr ‘kSf{kd eqíksas dh O;k[;k dhft,A 

3. Define research tools. Differentiate between a test and 

an experiment. 

‘kks/k midj.kksa dh ifjHkk”kk nhft,A ,d ijh{k.k vkSj ,d 

iz;ksx esa foHksn dhft,A 

4. Calculate the median and mode with the following  

data : 

Class Interval f 

10—14 

15—19 

20—24 

25—29 

30—34 

35—39 

40—44 

45—49 

50—55 

2 

4 

12 

15 

22 

16 

4 

3 

2 
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fuEufyf[kr vk¡dM+ksa dk e/;kad rFkk cgqykad Kkr dhft, % 

ckjEckjrk  vko`fŸk 

10—14 

15—19 

20—24 

25—29 

30—34 

35—39 

40—44 

45—49 

50—55 

2 

4 

12 

15 

22 

16 

4 

3 

2 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Define hypothesis. Explain null hypothesis. 

ifjdYiuk dks ifjHkkf”kr dhft,A ‘kwU; ifjdYiuk dk o.kZu 

dhft,A 

2. Explain Action Research. 

fØ;kRed vuqla/kku dk o.kZu dhft,A 
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3. Explain the nominal measurement with example. 

ukfer ekiu dks mnkgj.k lfgr Li”V dhft,A 

4. What are the characteristics of a good measuring tool ? 

vPNs ekiu midj.k dh D;k fo’ks”krk,¡ gSa \ 

5. Write one definition of reliability and validity. 

fo’oluh;rk rFkk oS/krk dh ,d ifjHkk”kk fyf[k,A 

6. If C. I. = 10, 2
1 5 7 , 2 9 , N = 5 0fd fd    , what will 

be S. D. 

;fn C. I. = 10, 2
1 5 7 , 2 9 , N = 5 0fd fd    ] rks 

ekud fopyu D;k gksxk \ 

7. Explain the kinds of correlation. 

lg&lEcU/k ds izdkj Li”V dhft,A 

8. What is the difference between Standardized vs. 

Teacher made test ? 

ekudhd`r rFkk v/;kid fufeZr ijh{k.k esa vUrj Li”V 

dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of half  1

2
 mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk  1

2
vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct alternative : 

lgh fodYi pqfu, % 

1. ―A problem is a question proposed for solution‖, who 

said this ? 

(a) Karlinger 

(b) Townsend 

(c) Mc Guigan 

fdlus dgk fd ßleL;k lek/kku ds fy, izLrkfor iz’u  

gSÞ \ 

¼v½ djfyaxj 

¼c½ VkmulS.M 

¼l½ xqbxu 

2. Action research is associated with : 

(a) Parents of students 

(b) School problems 

(c) By school earning 

fØ;kRed vuqla/kku dk lEcU/k gksrk gS % 

¼v½ Nk=ksa ds ekrk&firk ls 

¼c½ fo|ky; leL;kvkssa ls  

¼l½ fo|ky; ds /kuksiktZu ls  
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3. The formula of calculating Rank Difference of 

correlation is : 

(a) 
2

6
1

N (N 1)

d



  

(b) 
2

2

6
1

N (N 1)

d



  

(c) 
6

1
N (N 1)

d



  

Js.khØe lg&lEcU/k xq.kkad Kkr djus dk lw= gS % 

¼v½ 
2

6
1

N (N 1)

d



 

¼c½ 

2

2

6
1

N (N 1)

d



 

¼l½ 
6

1
N (N 1)

d



 

4. The distance between bars in a Bar Diagram  

is : 

(a) Equal  

(b) More 

(c) Very less 

n.M fp=ksa esa izR;sd n.M ds chp dh nwjh gksrh gS % 

¼v½ cjkcj 

¼c½ vf/kd 

¼l½ cgqr de 
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5. Founder of Statistics is : 

(a) Mendel 

(b) Hadley 

(c) Ackenwall 

lkaf[;dh ds tUenkrk gSa % 

¼v½ es.My 

¼c½ gSMys 

¼l½ vkdsuoky 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. ―The prime quality of some basic research is its 

generating of new construction.‖ (True/False) 

ßewyHkwr vuqla/kku dk eq[; mís’; u;h izjpukvksa dk fuekZ.k 

djuk gSAÞ   ¼lR;@vlR;½ 

7. In sampling the distribution of intelligence is zero. 

(True/False) 

U;kn’kZ eas cqf) dk forj.k ‘kwU; gksrk gSA ¼lR;@vlR;½ 

8. Two tail  test  is used  in  positive hypothesis.  

     (True/False) 

f}iqPNh; ijh{k.k dk iz;ksx ldkjkRed ifjdYiuk esas gksrk 

gSA    ¼lR;@vlR;½ 
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9. Founder of Rank difference is Karl Pearson.  

(True/False) 

dkyZ fi;lZu fLFkfr vUrj fof/k ds izfriknd gSaSA 

    ¼lR;@vlR;½ 

10. What is the formula of Quartile Deviation ? 

(True/False) 

prqFkk±’k fopyu dk lw= D;k gS \  ¼lR;@vlR;½ 
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